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Time: 3 hrs. ,.Wiiot" Max. Marks: 80
Note: Answer ony*,ffi|/ il questions. 

.=.:"W: 
'

;* dh"
I a. With a relevant diagram, explain thgregTst€r organization of 8086._ 

' ' (08 Marks)
b. List any three the advantages of meffib,_r,y segmentation. .,iu. fl (03 Marks)
c. The contents of different registers are shown below. Form""thb effective addresses for the

instructions given below. Offset (displacement) = 5000H.

[AX] : 1000H, [BX1 = 2000H, [SI] : 3000H, [DI] :4000H, [BP] = 5000H, [Sp] : 6000H,
[cs] :0000H,-tDlJ:-u0,0H,*[ss] = 2000H, [r1 =;,,0*;gdn

') Mov +I' !:99..9H1. ,"1,;,* 
''=

iD MOV AX, [BX]
iil) MOV AX, 5000H[Bx] - ,s,

iv) MOV Ax, [BX] [SI] . :

v) MOV A)L 5000H [BX] [S!. o;*,.]1.'. (05 Marks)
.=J.\"rt"2 a. Explaq{ffSH AX and POP AX instruCtions with steps involved. (05 Marks)

b. wrlfirf,fi 8b86 ALP to multiply two*bit signed **og;S,Five exampl. .. otr*l;?,Jfi;:i

c. If the machine code for OPCODIyMOV is 10001O npA tne hex codes,fur,

iii MOV Ax, [Bx] t'.1ry 4*-q -k ;* (05 Marks)
-v.

3 a. Explain different strr4g fiindling instructiors.., _ (05 Marks)
b. Write an 8086 Atkfot the addition gf two'3 x 3 matriceffihown below. The matrices are

stored in the foifri;Uf [sts (row wise).-$1ere the result of adllfiion in the third list.

lors bzr-r o3Hl - * [r rH z2H 33Hl

tltttltltt 
=,.,,#,

Fourth Semester B.E. Degree Examina.t{9h, July/August 2021
Microprocegsry

.i::; jii;F. -

[orH 0zr-r o3Hl -,: [r rH z2H 33H-]

MATI =l.o+H OsH 06H I MAT2 = | ++u 5sH 66H | (05 Marks)

frizn oSH oeH_] lnu 88H eeHlL07H oSH o?"S,11,,

c. Explain the following instructior

I" L77H 88H 99H
ions with exarnpld

i) AhA iD SAR iiiil.ipc. (06 Marks)
. 
i,l[tidriirr]ri:, ,,,,,,,,,,,,,111l) o

''aus*+ 
g*O rurn the fo llo,yruiigis semb ler direct ived'w ith examp le.

'"" i) ORG ii) P{Ri:,.,.,iii) PROC. ,__.=.,,,* (06Marks)
b. Write an 8086i&P to convert 4n'8-bii binary number into equivalent BCD code. (05 Marks)
c. If [CL] =E'dj find the contents df iigister BL after execution of following set of instructions

MOV BL, I
MOV AL, O

JZ END
suB cL,,B'!'i'
INC AL

ADD BL, 02

JMP UP
END : MOV BL, AL

.1,,;13
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a. What is an intemrpt vector table? With a diagram, p'plq,ifi"the structure of intemrpt vector

table of g0g6. ^^^- , L.. 
(o6Marks)

b. write an g0g6 ALp to generate a delay of 1 rnrntitg if g0g6 system frequency is 10MHz'

Show the calculation for delay' $-lt ^--^,^ ^r e^, 
(06 Marks)

c. with timing diagram, explain the intemrpt.,,lcknowledgement cycle of 80S6. (04 Marks)

'':' 
-

a. Write an 8086 procedure to conve4!.rla&tO BCD number in '{f1b ASCII equivalent in

u*:,.,,i, .,o, (04 Marks)
AX. o* - ={ ..+.::tu,,,.in. (04 Marks)

c. Explain any four ways to pass#**"6fri;ters io procedut"' u '" (08 Marks)

r;i :{ ": -{"'

, a. Sketch the minimu* pffionfiguration of 8086 -aiit Biiefly explain the operatto'',ou 
Marks)

rterfaqe i.,*..n 8086 CPU and tws thips 9f 1fK:q 
tt^l?* and two chips of

32Kx8 RAM:'#i.dtil;;#; "aat*" 
qfl:EPiOM suitablv' The RAM address must start

.. '":... !11

ll ..:l
* 'i' ' 4 - -, {.- , rn l^,,:^^ +^ Q{}QA

B a. GiveJIiF Stpps for interfacing an fSderice to 8086' *,.*i+,0 (03 Marks)

b. With%,deat block diagram, *pl*fi{t i"te*a1 architeot$dof 8255' (08 Marks)

c. Explain th. ;ffi;.;i;;;tJil;[ ..eltttt fon+*W55 for BSR:node' CIs Marks)

,'*t* - :^l:
9 a. Draw a schematic diagrap'for interfacing- O-.dCdiiO0 to 8086 usrne-!-1SS Write an ALP to

generate a triangular wave o-f frequenc,...fr...=-.{ : 
Assume 8ffiVstem frequency as 8MHz'

The amplit;;;?:t4. triangular wi"" tr'pfiiA+e +5v' 
- .i''.',,; 

'* (08 Marks)

b with a di"s;"#d;itil;1"*r;* *+&cture of 82s3l54':"'! (08 Marks)

..;t.: " ,.#t+. -" ,"xi. +l

I
! - - 

"' i

t0 a. Give apyfu differences U*Wfu'S088 9d 891$P.+t"processors' (04 Marks)

= ffi:;;;i"i" im,**giionnection orgo-bi ith 8086 microprocessor' (08 Marks)
b. witlmqta€
c. Usind*..1y+*^;in O=ffiffiion ca11,.,rr#rte an ALP to display the message

,iMfcRop*oceiofS;#th.;"phy sc,,1ee,h+of the computer. (04 Marks)

l{du" '*o* *****:r' 
* *# ^***l\

4,*%l-\ 
, *"!
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.laq:;fi#lf+

2 of2


